PARTS LIST / LISTE DES PIECES / LISTA DE PIEZAS
ITEM NO. / ARTICLE NO. / ARTICULO NO : S462-530

DESCRIPTION / DESCRIPCION : 3/3 PANEL HEADBOARD / TETE DE LIT SIMPLE / CABECERA ESTILO PANEL DE 3/3

=
©

x6 JCBC Bolt M6 x 1.0 x 40MM K x6 Spring Washer M6 K x6 Flat Washer M6 K
x6 Boulon JCBC M6 x 1.0 x 40MM x6 Rondelle a ressort M6 x6 Rondelle Plate M6
x6 JCBC Perno M6 x 1.0 x 40MM x6 Arandela auto-bloqueante M6 x6 Arandela Plana M6

° I =

x1 Allen Key 4 x 65MM * x1 Headboard x1 Headboard Legs (Left) *
x1 Cl¢ hexagonale 4 x 65MM x1 Téte De Lit x1 Pattes De Téte De Lit (Gauche)
x1 Llave Allen 4 x 65MM x1 Cabecera x1 Patas Cabecera (Izquierda)

e
©

x1 Headboard Legs (Right) *
x1 Pattes De Téte De Lit (Droite)
x1 Patas De Cabecera (Derecha)

*Replaceable Part

Page 1 of 3/ Page 1 sur 3/ Pagina 1 de 3

Residential Use Only Made in Malaysia / Fabriqué au Malaisie / Hecho en Malasia
For assembly instruction video, please go to: www.myfurnitureinstructions.com



ASSEMBLY INSTRUCTIONS / NOTICE DE MONTAGE / INSTRUCCIONES DE MONTAJE
ITEM NO./ ARTICLE NO. / ARTICULO NO : S462-530

DESCRIPTION / DESCRIPCION : 3/3 PANEL HEADBOARD / TETE DE LIT SIMPLE / CABECERA ESTILO PANEL DE 3/3

*Replaceable Part

Page 2 of 3 / Page 2 sur 3 / Pagina 2 de 3 Residential Use Only Made in Malaysia / Fabriqué au Malaisie / Hecho en Malasia
For assembly instruction video, please go to: www.myfurnitureinstructions.com



REPLACEABLE PART / PARTIE REMPLACABLE / PARTE REEMPLAZABLE
ITEM NO./ ARTICLE NO. / ARTICULO NO : S462-530

DESCRIPTION / DESCRIPCION : 3/3 PANEL HEADBOARD / TETE DE LIT SIMPLE / CABECERA ESTILO PANEL DE 3/3

x1 RS462-530-LEGL x1 RS462-530-LEGR
Headboard Legs (Left) Headboard I:egs (Right)
Pattes De Téte De Lit (Gauche) Pattes De Téte De Lit (Droite)
Patas Cabecera (Izquierda) Patas De Cabecera (Derecha)
gy \%
b
: x1 RS462-530-HWKIT 3k
: L Hardware Kit
Liste des picces de quincaillerie
Lista del kit de materiales
*Replaceable Part
Page 3 of 3 / Page 3 sur 3 / Pagina 3 de 3 Residential Use Only Made in Malaysia / Fabriqué au Malaisie / Hecho en Malasia

For assembly instruction video, please go to: www.myfurnitureinstructions.com



	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model


